FE717| EesIEED

ROUND CYLINDER SERIES

o2

A2iE na=
INDEX

526
526

527

527
528

PCSF

PCSH

PCMA

PCMB
PCMBR

PCMJ1

KCMJ

KCMB

PCMI

PCMOB
PCMOC

PCCG
PCCN

PCBOO

PCQA-AH

QIX| A : PCCN

533

At ol Fos

ARIfZat AEZE3

533
534

X+E

nleE Hayzl ssun

538

525

PCQVL

PCQI2

PCRPMO
PCRO
PRT

PSB
PSL
PSAR

PVBA-2100

el

of
Azl
4 A%
AT 0fEAH
ool 22
CHM

TIGHPR
HEE
22

ot




22 4ZiE Al2|=

PCSF
s PCSH
‘ PCMA
PCMB
PCMBR
AL AEZIJ} Qx| AIYCE HEHE . o
22 A YLIct, ;1 - KeMJ
OLCIYSt OIRE Haf3le| MEHo| 7153510 Al -
Zdo &= HRE 2 5+ USLICH Keus
e MEiAjFOR MM AQIXIE MEHE £ UBLI -
Ct,
PCMOB
PCMOC
Apet MG AERS —
e
PCCN
o B4 PCCN ARIEE (inch) EZE AEZ3 (inch) S
s EA 253 314" 1,2,3,4,56,8
Aoy inch| 3/4” ‘ 1 ‘1 1a ‘1 12| 2 212 1"~21/2" 1,2,3,4,5,6,8, 10,12 KsL
i EEETE NPT 1/8 NPT 1/4 oxE AEZ3T 0/2/9 MEO tisiM= 22lstod FHAIR. PCBOO
A2 2A| LE37I
Z|TAELHE  MPa 0.99 PCQA-AH
Z|MAIEE  MPa 0.05 PCQVL
3 MY MPa 15
PCQI2
A2 c —5~4+60C (F&)
EES Er) PTA
PAS
AL =R mm/sec 50~500
M TSI BHAl PCKA
El IFHIEH A
M| AQIR| AL RCA PCKC
2 s ¥Y |BGA20[BGA25[BGA32|BGA4Y BGASYBGAG3 .
PCRPMO
EX-TPN SE Haf7l =ESAl Fero
F=IA OI2E HeiZl FES4
PRT
PCCN—11—40—0425M FAC — PCCN —40 PS8
N . PSL
‘ PSAR
£ MBIy =Ll ARIC BA MRHZ R0
20 : 3/4" 2702001y gle
25: 1" s of2ul LR = Al
A, 32: 114" M_olad e oteE sedzl S A2l
2 2c 40:11/2" =) =
o= 50:2" LB IR ORE -
63:212" ) - - A%
£AE23 (inch) - =1 cB 18 2ejulA oi2e
— 1220125 (1/8") AE2 3T
HZ AEZ23 (inch) 25=0.25(1/4") AE23 ssf{E)Z‘a FAC RCE ZHX| OIRE 430204
04=4" AERT 37=0.375 (3/8") AE2 3 -
s=f-1| FBC :3l== Z2x oiee ool 22
w=f®\ -1} SDB-R :=2CE S2ulA of2e
- - CHM
s - =8\ SDB-H :3lI=% Z2ilx oj2E
=B |cB+SDB : =83 Se(ulA i2s AR
7= HAZIE 438
T - o wfD | ™ ecaceenes s
i =B} TB  :4l=S E2iL oreE
HE(%)
sHope7|

533 L——




PCSF
=1 A .
A

pCsH |-|-E (inch)

PCMA

PCMB

PCMBR o P

S ‘ A 2-EE
oM 2x2-TC g ”:L‘T -
} & - [

KeMmJ ,% j wla i @‘ ,,,,,,

| } —

KCMB l

= A
Tq_TF

PCMI N _TB_

— v LB+AEZS
ZB+AEZT

PCMOB A-A/B-B ZZ+AERT

PCMOC

PCCG inch

IFEE 715 =E =

tRiA\ | AE23| Aez3 A B D DD E EE H | H1 K KK LB
M -
Ks 3/4 | ~ 7.87 | 7.91~13.78 | 050 | 0.472 "0, | 0.24 | #8-32%0.28 % | 1.02 | NPT 1/8| 0.16 | 0.44| 0.157| 1/4-28 UNF | 2.70 (3.01)
KL ¥ ~11.81 | 11.85~15.75 | 0.50 | 0.551 3 1oy, | 0.31 [#10-32x0.30 | 1.22 [ NPT 1/8] 0.19 | 0.50| 0.197] 5/16-24 UNF | 2.70 (3.01)
11/4" | ~11.81 [11.85~17.72 [ 0.75 ] 0.709 "0 5y, | 0.39 | #10-32%0.30 # | 1.50 | NPT /8] 0.26 | 0.69] 0.217] 7/16-20 UNF | 2.78 (3.09)

o 11/2° | ~11.81 [ 11.85~31.50 [ 0.75 ] 0.984 ~3 1,5 | 0.55 | 1/4-28x0.47 # | 1.85 | NPT 1/8| 0.26 | 0.69| 0.236] 7/16-20 UNF | 3.06 (3.41)

2 ~11.81 | 11.85-47.24 | 0.88 | 1.181 "J013 | 0.71 | 5/16-24X0.63 ] 2.28 | NPT 1/4] 0.32 | 0.75| 0.276 1/2-20 UNF | 3.53 (4.00)

PCOAAH 21/2° | ~11.81 | 11.85~47.24 | 0.88 | 1.260 "§ 015 | 0.71 | 3/8-24%0.63 7 | 2.83 | NPT 1/4 | 0.32 | 0.75| 0.276| 1/2-20 UNF | 3.53 (4.00)

e
PCQVL A|a||§.|7# MM | N|P|R|TA | TB TC TDw| TE | TF | TG | V | W | Y ZB Y74
ARICiZ
roa 3/4” | 0.315]0.94] 0.47] 0.55] 0.433] 0.433| M5x0.8 | 0.315] 0.157] 0.020| 0.217] 0.08| 0.50| 0.97] 3.28 (3.59) | 3.78 (4.09)
1 | 0.394] 1.14] 0.47[ 0.65] 0.433] 0.433| M6 x0.75 | 0.394] 0.197] 0.039] 0.256| 0.08] 0.62] 1.09] 3.40 (3.71) [ 3.90 (4.21)
. 11/4" | 0.472]1.42[0.430.79] 0.433 0.394| M8x 1.0 | 0.472] 0.217] 0.049] 0.295 0.08| 0.88| 1.35| 3.74 (4.05) | 4.49 (4.80)
PAS 1 172" | 0.6301.730.47] 1.02] 0.472] 0.394| M10x 1.25 | 0.551] 0.240] 0.049] 0.335 0.08] 0.88| 1.39] 4.02 (4.37) [ 4.77 (5.12)
2 |0.787]2.17] 051 1.26] 0.512] 0.472] M12x1.25] 0.630] 0.295| 0.079] 0.394] 0.08] 1.19] 1.74] 4.80 (5.27) | 5.68 (6.15)

% 2 1/2" | 0.787]2.72 0.51) 1.50] 0.512] 0.472| M14x1.5 | 0.709] 0.453] 0.118] 0.571] 0.08] 1.19] 1.74] 4.80 (5.27) | 5.68 (6.15)

PCKC % LB, 7B, zz0| () 9to] XIA= 2 A=23 Etlo] x4gLlct,

PCRPLO)

PORP]

PCRO ol=] =|A ) o =1 A )
MM AQX| X[ (inch) OF2E Haljzl HMAME] X|$E (inch)
- ] r - ]

PRT

ol=| - =4 it

. MA AQX| : RCA eAES Tl
= . *k

paL FE HHiE : BGA

PSAR 'I'I_l_ —_ G

PUBA-ZI00

o

ey [ 0 Y

RLCE] ®le

MM AR M L1

7 I L
JELTIY]
ofof 22/
. = o
CB : I¥ EgH|A OIRE
e 7|§- jli ALHZ|
Taig@| A | B | C|D|E TaigzE| Dde D1 L |L1| M| T | A
KRR 3/4" |0.709]1.220| 0984150 |1.024 3/4 [0315300%[0.30]1.71] 1,52 0.06 | 0.04 | sSTW-8
i 1" 0.787 [ 1.378| 1.063 | 1.654 | 1.024 1" 0.394 359151 0.38 | 1.89 1.68| 0.06 | 0.05 | STW-10
Htaoe 1174 |0.945]1.693]1.220] 1.969 1.024 11/47 |0472:339%]0.45/2.34|2.13] 0.06 | 0.05 | sTW-12
11/2" [1.142|2.087|1.417|2.362 | 1.024 11/2" [0.551:5932%0.53|2.81(2.56| 0.08 | 0.05 | STW-14
wa

FE(#) o |1.339|2480| 1.614|2.756 | 1.024 > [0630:3%9%[0.60]3.39]3.13 0.08 | 0.05 | sTW-16

2 1/2" |[1.614|3.031|1.890|3.307 | 1.024 2 1/2" [0.709:0:3839| 0.67 |4.15|3.85| 0.10 | 0.05 | STW-18
3hope7|
534




PCSF

PCSH
= o PCMA
LB = oi2E
POMB
PCMBR
_ = — PCMJI
15 . BN il
KCMJ
. ‘ ] - Hr-—-—- D -
. U | KCMB
5
=== N T/ PCMI
2-6LC
w o H W
4-4LD LX (F=28) - PCMOB
M X Y Y|, X M POMOC
Lz z LS+tAEZT
ZZ+AERS PCCG
PCCN
(EH2] @ inch)
7= KSM
ga_lagBLCLDLH LS LT|LX|(LZ|M|W | X |Y | Z 4
3/4” [1.34]0.16/0.24|0.79]1.77(2.08) [ 0.12]1.26 [ 1.73]0.09| 0.39| 0.59] 0.28] 1.47| 3.92 (4.23) Kk
1+ |152|0.16]0.24|0.87|1.77(2.08) | 0.12] 1.42] 1.93| 0.11 | 0.39| 0.59| 0.28| 1.59 | 4.06 (4.37) -
11/4 [1.77]0.16/0.26]0.98(1.77(2.08) [0.12|1.73[2.28|0.11 | 0.39 | 0.63| 0.31 | 2.14 | 4.65 (4.96)
11/2" [2.15]0.16/0.26]1.18]2.01(2.36) [ 0.12] 2.13|2.80{0.13] 0.39 | 0.65| 0.33 | 2.16 | 4.95 (5.30) -
2 [2.78[0.20|0.35|1.57|2.17(2.64) [ 0.18]2.603.39|0.17| 0.69|0.87 | 0.43 | 2.76 | 5.96 (6.43)
2 1/2" [3.25/0.20/0.43[1.77]2.17(2.64) | 0.18]3.23]4.17] 0.22] 0.69] 0.87] 0.51| 2.76 | 6.01 (6.48) POQUL
X LS, 7zo| () el X|p= B AERT EfRQ x|¢Lch
PCQR2
PTA
PAS
S o
CB I ZaHlA OiRE pa
PCKC
cz PCRPL
0c+0.1 ias
B : 18 ZalblA o2E L RR f = -
$CD 217 H10 ‘ ‘
Wz  do M H
n T T T o
=] I _ |
| J\: \L J ! PRT
\ — |- [+e]
cac:l (I
= PSB
- | | | PSL
SDB : 2H|A OIRE / T PSAR
\ TV 4-TF TN\ oTE®® PYBA-2100
TV T (HEs)
W F=2) .
Z+AERT \ jv4 AiAfe
|
ZZ+AERST
LLESH]
(£ : inch) ero]
S
ME";,, B|CD|CZ| L |RR|TE |TF|TH|TT|TV |TW|TX |TY |TZ z zz
Z
ofof 22jzf
3/4" [1.50]0.315]1.14]0.55]0.43] 0.394 [0.22]0.98|0.13| 1.41|1.65|0.63| 1.10| 1.71]4.27 (4.58)| 5.09(5.40)
17 [1.79/0.394 |1.30{0.63|0.51|0.394 [0.22|1.18|0.13| 1.57 | 1.65|0.79( 1.10 | 1.89 | 4.47 (4.78)| 5.29(5.60) cHM
11/4" |2.13]0.472]157/0.79]0.59| 0.394 |0.26 | 1.38] 0.18| 1.94| 1.89] 0.87 | 1.10( 2.34 | 5.21 (5.52)| 6.16(6.47)
11/2° |2.50| 0,551 [1.93]0.87|0.71]0.394 [ 0.26 | 1.57[0.18|2.30 [2.20| 1.18| 1.18 | 2.81 | 5.57 (5.92)| 6.67(7.02) 1R
2" |3.11]0.630[2.360.98(0.79| 0.787 | 0.35[1.97|0.24| 2.85 | 2.52| 1.42|1.42|3.39 | 6.60 (7.07)| 7.86(8.33)
21/2" [3.78/0.709]2.91]1.18]0.87| 0.787 [0.43|2.36/ 0.31|3.56 | 2.91| 1.81| 1.81|4.15|6.80 (7.27)| 8.25(8.72) BEA0E
% Z, 729 () ool Xe= B AER3 EfRlo| RISLICE
HE(%)
3hope7|

535




PCSF

PCSH

PCMA

PCMB
PCMBR

PCMJ1

KCMJ

KCMB

PCMI

PCMOB
PCMOC

PCCG
PCCN

KSL

PCBOO

PCQA-AH

PCQVL

PCQI2

PCRPMO

PCRO

PRT

PSB
PSL
PSAR

PVBA-2100

Aaicy
iife)

LAES Y]

A3008A4

olof 32/

HE(%)

SopE7|

4-¢FD
| [
. ~ I
JRE ST o,
=3
OFX F FT
OB
=] > T (=)
FBC s&l== Z3x| o2E
4-$ FD
| [ | I
1 i i i _
T ‘7777777 ‘ 1T LJ
L} <
FT||. F
ZZ+AER3
7=
aiz\ B | E | F|[FX|FD|FT| 2z
3/4" 1.57| 0.472|0.08|1.10{0.22|0.24 | 4.03 (4.34)
1" 1.73| 0.551 | 0.08| 1.26|0.22 | 0.28 | 4.19 (4.50)
11/4 [2.09]|0.709 |0.08|1.50|0.26|0.28 | 4.78 (5.09)
11/2" [2.40|0.984|0.08(1.18|0.26|0.31 | 5.09 (5.44)
2" 2.99| 1.181|0.08|2.28|0.35|0.35| 6.05 (6.52)
2 1/2° |3.62|1.260|0.08|2.76|0.43|0.35| 6.05 (6.52)

536

% 7z9| () otel RXe= & AERZ3 EfYQ| XYLt

e
E

OFX

OB

N N —




DI'—S—E EEHa\I I¢E (inch)
TA 2E== ERLY OIRE
ol A FE el
e |
HER T
: - e —
i o
= =
/\ ‘]:IfE\
\_SDB : Z2{H|A O2E
4-¢TF STER™® ‘ ™ ‘
[EEES) ‘
z \

s FHE el
o
[o3
o
=
<
&
[:1]
- T
E = =
! 1
4/ | |
DB : ZaulA oi2E ‘ ‘ ‘ \’\ .
— S TF X OTER
™w v (F=E)
Z+AEZFT ‘ TZ
2z+AEZS i
71& B =S
B |TDe8| TE |TF |[TH|TR|TS |TT |TV |TW|TX | TY|TZ
Aoy 2 z Z
3/4” [1.50]0.315|0.394 |0.22(0.98]1.54|1.14|0.13] 1.41[1.65|0.63[1.10{2.00| 1.43 [3.28 (3.59) |4.11 (4.42)
17 |1.79]0.394 | 0.394 [0.22|1.18|1.69| 1.30| 0.13| 1.57 [1.65| 0.79(1.10[2.27| 1.55 |3.40 (3.71) |4.23(4.54)
11/4” |2.13|0.472|0.394 |0.261.38(2.11 | 1.57|0.18|1.94[1.89|0.871.10|2.88| 2.06 |4.03 (4.34) |4.98(5.29)
11/2" |2.50 | 0.551|0.394 |0.26|1.57|2.54|1.93|0.18(2.302.20(1.18(1.18|3.52| 2.10 |4.31 (4.66) |5.41(5.76)
2" [3.11]0630(0.787[0.35]1.97|3.15/2.36(0.24| 2.85(2.52|1.42|1.42|4.29| 2.58 |5.14 (5.61) |6.40(6.87)
2 1/2" |3.78]0.709 | 0.787 | 0.43 | 2.36|3.86| 2.91/0.31]3.56|2.91/1.81/1.81|5.15| 2.58 |5.14 (5.61) |6.60(7.07)
x Z,729| () ¢tel R & AER3T EfRQl X|LICH
= o
SDB =alH|A oieE
TZ
@
U N 85
REE
_ & B
n
7d J
2
I
=
: : : i
‘ ‘ TY ‘ 4-¢TF A ‘ X STEL™™
I '/— v [CER:)
TS
[ ojZalAlolg
NEEE] TB| TE | TF | TH| TN | TR | TT | TU | TV [TW | TX | TY [ TS | TZ | "y 5p
3/4” |1.42|0394|022|098(1.15(|0.51(0.13|0.71|1.41|1.65|0.63|1.10 | 1.50 | 2.00 | 0.315 55
1" 1.69 | 0.394 [ 0.22 | 1.18| 1.30 | 0.59 | 0.13 | 0.81 | 1.57 | 1.65 [ 0.79 | 1.10 | 1.65 | 2.27 | 0.394 5%
11/4” [1.97|0.394|0.26 | 1.38 | 1.59| 0.67 [ 0.18 | 0.93 | 1.94 | 1.89 | 0.87 | 1.10 | 2.06 | 2.88 | 0.472 5302
11/2" [2.28(0.394|0.26|1.57 | 1.94 | 0.83 | 0.18 | 1.07 | 2.30 | 2.20 | 1.18 [ 1.18 | 2.50 | 3.52 | 0.551 5%
2" 2.76|0.787 | 0.35 | 1.97 | 2.38 | 0.94 | 0.24 | 1.17 | 2.85 | 2,52 | 1.42| 1.42 | 3.10 | 4.29 | 0.630 $0%%)
21/2" |3.23]0.787|0.43|2.36| 2.94 | 1.02|0.31 | 1.35|3.56 | 2.91 | 1.81| 1.81 | 3.80 | 5.15 | 0.709 3%

537

PCSF

PCSH

PCMA

PCMB
PCMBR

PCMJ1

KCMJ

KCMB

PCMI

PCMOB
PCMOC

PCCG
PCCN

PCBOO

PCQA-AH

PCQVL

PCQI2

PRT

PSB
PSL
PSAR

PVBA-2100

Aoy
el

A AR

PEQ L

oot 32/



PCSF

|:||- E EEH;l Hl-hél-l

A

Ho

PCSH

PCMA
@ ErL|Y nIRE
PCMB

POMER EgiL Y of2E0 D% Hajzls FHEE o= oliE HusiM FFst FHAR.
PCMJ1
KeMJ
KCMB

PCMI ‘EEEH“H“

PCMOB
PCMOC

PCCG
PCCN

KSL

PCBOO

PCQA-AH

PCQVL

PCQI2

PCKA @ ZdjH|A OIRE

Pexe 2|2 D2E0]| D% HfAS FEE wolls sh71E s FEsH FHAIL.

PCRO

PRT
— =E f 2
PSB

it / D /
PSAR
| |
- i o] |
Ay _ I L A S I
Ahrfal SajH|A = oo v
- (T2lx £ bl 1
4 A9 | [ |
| ! \
e ! 1 |
L I |
oo 2208
CHM
LRI
K4
22()
sH0p7]

538



